Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/108035

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1288004	SITARA SINGH	Female	M. A./Pol. Science/II	Renewal	4	530	2120	0	914	914	3034
1373767	RAJ KUMARI SINGH	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1470507	PRATIMA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1471068	ARCHANA XX	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1473323	SEEMA SINGH	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1473352	JAYANTI SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1494236	PINKI SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1521153	CHAN DA	Female	M. Sc./Mathematics/II	Renewal	4	530	2120	0	963	963	3083
1548357	RUKMANI LAKARA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1632329	KU AARTI	Female	M. Sc./Mathematics/II	Renewal	4	530	2120	0	963	963	3083
1635334	OMVATI BHAGAT	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1693855	POOJA PAINKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1694594	JASINTA KUMARI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1718129	POOJA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1822724	AARTI SINGH TEKAM	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1869622	PRATIMA MINJ	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1871126	JAY BINA TIRKEY	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/108035

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 07/07/2021

Academic Year: 2020-21 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1871648	SONAM TIGGA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
						Total :	25280	0	15730	15730	41010

Declaration:

Place : Date :

Female

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/10/1494/1/9/108036

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 07/07/2021 Academic Year: 2020-21 Applications Type: Renewal

Renewal

Total Amount Application ID Student Name Gender Course No. of Rate Maintenence Tuition Fee Other Fee **Total Fee Type** Month **Allowance** 1709098 CHANDA MIRRE B. Sc./Science/II

300 1200 0 864 864 2064 Total: 1200 0 864 864 2064

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: N/10/1494/3/10/108037

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 07/07/2021

Academic Year: 2020-21

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1251671	KU SARITA YADAV	Female	M. Sc./Botany/I	Fresh	4	110	440	0	1163	1163	1603
1393299	SMITA KUSHWAHA	Female	M. Sc./Botany/I	Fresh	4	110	440	0	1163	1163	1603
1866229	KUSUM BANJARA	Female	M. Sc./Mathematics/I	Fresh	4	110	440	0	1163	1163	1603
1870856	NUTAN RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
	Tota							0	4553	4553	6363

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/1494/3/10/108038

Sanction Date: 07/07/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1102158	Vandna Rajwade	Female	M. Sc./Mathematics/II	Renewal	4	115	460	0	963	963	1423
1240967	ALKA GUPTA	Female	M. A./Sociology/II	Renewal	4	115	460	0	914	914	1374
1456850	USHA CHAUDHARI	Female	M. A./Pol. Science/II	Renewal	4	115	460	0	914	914	1374
1527974	PARVATI YADAV	Female	B. A./Arts/II	Renewal	4	85	340	0	844	844	1184
1633127	ANJALA YADAV	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1727051	SANGEETA YADAV	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1732470	KUSUM YADAV	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1643186	KU SONAMANI	Female	B. Sc./Science/II	Renewal	4	70	280	0	864	864	1144
						Total:	3020	0	7071	7071	10091

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/106049

Institute Name : GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date : 20/06/2021

Academic Year : 2020-21

Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
301738	VIDYAWATI KUMARI	Female	M. A./Sociology/II	Renewal	4	530	2120	0	914	914	3034
544371	geeta singh	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
553692	amrita singh	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
604832	RAVINA BARA	Female	M. A./Pol. Science/II	Renewal	4	530	2120	0	914	914	3034
865691	Shalinta Tigga	Female	M. Sc./Home Science/II	Renewal	4	530	2120	0	963	963	3083
1119932	kumari sarita lakra	Female	M. A./Pol. Science/II	Renewal	4	530	2120	0	914	914	3034
1223720	NEELIMA MINJ	Female	M. Sc./Home Science/II	Renewal	4	530	2120	0	963	963	3083
1223785	P RAVINA SINGH	Female	M. Sc./Home Science/II	Renewal	4	530	2120	0	963	963	3083
1231539	REKHA PAINKRA	Female	M. Sc./Home Science/II	Renewal	4	530	2120	0	963	963	3083
1238952	KALA WATI	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1239568	RAHEL SINGH	Female	M. Sc./Chemistry/II	Renewal	4	530	2120	0	963	963	3083
1245014	SEEMA PAINKRA	Female	M. Sc./Chemistry/II	Renewal	4	530	2120	0	963	963	3083
1255327	BINDIYA PAIKRA	Female	M. Sc./Chemistry/II	Renewal	4	530	2120	0	963	963	3083
1260050	AGISTA TOPPO	Female	M. Sc./Home Science/II	Renewal	4	530	2120	0	963	963	3083
1299076	KU LALITA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1309316	KUM BINDU	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1319277	kalpana lakra	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/106049

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 20/06/2021

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1320919	SASHITA LAKRA	Female	M. A./Pol. Science/II	Renewal	4	530	2120	0	914	914	3034
1322375	KU SUNITA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1345049	ANITA EKKA	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1362059	SANJULATA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1363721	SHEETAL SINGH	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1370327	SWARNPRABHA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1379855	KU GAYATREE	Female	M. A./Pol. Science/II	Renewal	4	530	2120	0	914	914	3034
1382735	ARUNA TIRKEY	Female	M. Sc./Home Science/II	Renewal	4	530	2120	0	963	963	3083
1406535	ESHWARI PAIKRA	Female	M. Sc./Botany/II	Renewal	4	530	2120	0	963	963	3083
1416869	KUM PUSHPA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1419424	Asbina Kindo	Female	M. Sc./Chemistry/II	Renewal	4	530	2120	0	963	963	3083
1439757	TIKESHWARI PAINKRA	Female	M. Sc./Botany/II	Renewal	4	530	2120	0	963	963	3083
1473321	GANESHWATI SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1481119	KUMARI SANITA	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1487051	KUMARI MANGEETA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1493526	SALITA EKKA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1495928	KU BINDU	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1515676	KU PRIYANKA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/106049

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 20/06/2021

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1516834	RADHA PAIKRA	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1517837	PRATIMA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1518185	DIPTEE SINGH	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1518264	NEELAM TIRKEY	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1521748	KU MITALI MINJ	Female	M. A./Sociology/II	Renewal	4	530	2120	0	914	914	3034
1527758	KU NILESHWAREE	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1529205	LEEMA LAKRA	Female	M. Sc./Botany/II	Renewal	4	530	2120	0	963	963	3083
1543314	RAIMAT PAIKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1545092	ANAMIKA KUJUR	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1546456	SEETA KUJUR	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1550556	ANJANA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1613783	NILUROSE TIRKEY	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1621210	ROSHNI LAKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1622501	POONAM PAINKRA	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1622676	PRIYANKA MINJ	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1625734	SAVITA PAINKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1626306	VIBHA DHURVA	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1628407	KU SUKHMANIYA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/1494/2/7/106049

Sanction Date: 20/06/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1628898	NILASO SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1629762	PRIYANKA SINGH	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1630123	MANISHA TIRKEY	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1633187	NERU NEHA TIGGA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1636859	ANANDEE SINGH	Female	M. A./Sociology/II	Renewal	4	530	2120	0	914	914	3034
1647073	ASIMA LAKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1650586	BABITA SINGH	Female	B. Sc./Computer Science/II	Renewal	4	300	1200	0	864	864	2064
1650949	KU SANGEETA	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1651516	SUMITA PAIKRA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1651614	KARISHMA PAINKRA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1655480	KUMARI TARA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1656637	RANJANA PAIKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1657625	RUPALI TIGGA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1659084	SHARMILA TIRKEY	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1659271	POOJA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1672073	KUMARI GEETA	Female	M. Sc./Botany/II	Renewal	4	530	2120	0	963	963	3083
1675447	KU SAMPATI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1675799	RESHMA PAINKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/106049

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 20/06/2021

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1676487	SHIVANGI SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1677896	MAMTA BANVASI	Female	B. Com./Commerce/II	Renewal	4	300	1200	0	844	844	2044
1683059	KU MEENA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1684065	PREETI LATA BECK	Female	M. A./Pol. Science/II	Renewal	4	530	2120	0	914	914	3034
1684649	KU TENJULATA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1686100	SATRUPA SATRUPA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1688014	PRIYANKA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1693050	PRIYANKA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1693194	PRITI SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1693403	SAKINA LAKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1693885	MAYAWATI KUMARI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1694287	PRIYA KUMARI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1694727	PRATIMA TOPPO	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1697660	MAINAVATI MAINAVATI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1699293	SADHNA MINJ	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1624269	KU SMITA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1617613	PRAMILA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1629449	KU PARWATI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST Sanction Number: R/10/1494/2/7/106049

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 20/06/2021

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1546777	KU JAMUNA SINGH	Female	M. A./Sociology/II	Renewal	4	530	2120	0	914	914	3034
1505908	ROSHANI KUJUR	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1467417	KU PHOOLMATI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1287603	Anamika Ekka	Female	M. Sc./Botany/II	Renewal	4	530	2120	0	963	963	3083
1263683	KUMARI YOTA	Female	M. Sc./Home Science/II	Renewal	4	530	2120	0	963	963	3083
1704011	ANITA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1704220	PUSHPA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1720245	KUMARI INDRAMUNI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1722078	POOJA DHWAJ	Female	B. Com./Commerce/II	Renewal	4	300	1200	0	844	844	2044
1727012	LALITA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1730142	SAKSHEE BHAGAT	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1730759	HEMANTI SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1864007	SANDHYA PAINKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1865146	SANJITA KUJUR	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1865533	KUMARI DHANIYARO	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1866121	SARLA EKKA	Female	M. Sc./Chemistry/II	Renewal	4	530	2120	0	963	963	3083
1869093	NEELAM PAIKRA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1870392	MAMTA MARKAM	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044

Declaration:

Place : Date :

Government of Chhattisgarh



96079

259079

Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/106049

Total:

163000

0

96079

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 20/06/2021

Academic Year: 2020-21

Applications Type: Renewal

Application ID Rate Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Month **Allowance** 1870509 CHANDA DHAWAJ Female B. Sc./Science/II Renewal 300 1200 0 864 864 2064 1122065 KU LALITA SINGH Female M. A./Sociology/II Renewal 530 2120 0 914 914 3034

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/1494/2/7/106141

Sanction Date: 20/06/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
534115	RUNGEN SONHA	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
607940	AKTISH KUMARI SINGH	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1041826	ASMANI BECK	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1116652	KU CHANDRAMANI	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1123110	MAYAWATI SINGH	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1137348	DARSHIKA PAINKRA	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1250220	KU CHANDNI TOPPO	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1275088	KU JAMUNA SINGH	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1280978	KU MEENA KUJUR	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1281072	KU JYOTI	Female	M. A./Hindi/I	Fresh	4	530	2120	0	1114	1114	3234
1281231	KUM MAMTA BAGHEL	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1291613	KU SAVITA PAIKRA	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1312643	ASHIKA PAIKRA	Female	M. A./Hindi/I	Fresh	4	530	2120	0	1114	1114	3234
1320223	KUMARI SANTOSHI	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/106141

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 20/06/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1320978	KUMARI SABANTI	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1320986	KUMARI MADHU	Female	M. A./History/I	Fresh	4	530	2120	0	1114	1114	3234
1321093	ASHA SINGH	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1323126	KU SULEKHA	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1323589	PRATIMA SINGH	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1323865	KU RAMKELI	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1324620	KU REETA SINGH	Female	M. A./History/I	Fresh	4	530	2120	0	1114	1114	3234
1324985	PUJA EKKA	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1325528	KANCHAN LAKRA	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1329759	KU FULMATI	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1330257	DIVYATARA TIGGA	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1330489	KU RENUKA EKKA	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1342971	SANDHYA KERKETTA	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
1346099	Kanchan Mala Minj	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1347197	RUPA SINGH	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1354555	JEEVAN JYOTI XESS	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

.

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/1494/2/7/106141

Sanction Date : 20/06/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1361734	SANGEETA BECK	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1364797	PRIYA PAIKRA	Female	M. A./Hindi/I	Fresh	4	530	2120	0	1114	1114	3234
1366470	KUMARI SUNITA	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1369943	KU DINESHWARI	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1370040	ANNPURNA SINGH	Female	M. Sc./Mathematics/I	Fresh	4	530	2120	0	1163	1163	3283
1370282	MADHURI KUMARI	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
1377080	PRATIBHA TOPPO	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1380228	RICHA TOPPO	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1381221	REKHA SANDILYA	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1389528	KU POONAM	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1439686	Namita Kujur	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1439949	SHISHPA TIRKEY	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1490564	SHAILEE BHAGAT	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1507650	KU PRITI	Female	M. A./Hindi/I	Fresh	4	530	2120	0	1114	1114	3234
1535707	KU KALITA	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/106141

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 20/06/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1538170	MADHURIMA TIRKEY	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1540721	MAYA SINGH	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1554259	SHANTI LAKRA	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1653522	POONAM PAINKRA	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1658526	SUNITA PAIKRA	Female	M. A./Hindi/I	Fresh	4	530	2120	0	1114	1114	3234
1680211	PRATIMA BECK	Female	M. Sc./Home Science/I	Fresh	4	530	2120	0	1163	1163	3283
1736437	SHANTA DIWAN	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1819051	ANNU ANNU	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1838067	LAXMI SINGH	Female	B. A./Arts/I	Fresh	4	300	1200	0	1004	1004	2204
1863384	ASHWINI KERKETTA	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1865270	RESHAMA KUJUR	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
1865637	SANITA KUMARI	Female	M. A./Hindi/I	Fresh	4	530	2120	0	1114	1114	3234
1866256	RATRANI XAXA	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
		-				Total :	122020	0	175629	175629	297649

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/10/1494/1/9/106272

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 20/06/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1166639	DEEPTI BHARGAV	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
1866490	KUMARI SANGITA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
						Total :	4220	0	2167	2167	6387

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Sanction Number: N/10/1494/3/10/106144

Sanction Date: 20/06/2021

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1144756	RANI RAJWADE	Female	M. A./History/I	Fresh	4	110	440	0	1114	1114	1554
1271239	SHIV KUMARI	Female	M. A./History/I	Fresh	4	110	440	0	1114	1114	1554
1348256	SUNITA RAJAK	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	9000	9000	9440
1399446	PREM KUMARI	Female	M. A./History/I	Fresh	4	110	440	0	1114	1114	1554
1450235	KU RANI	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	9000	9000	9440
1478567	CHHAYA GUPTA	Female	M. Sc./Mathematics/I	Fresh	4	110	440	0	1163	1163	1603
1565043	HEWANTI YADAV	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	9000	9000	9440
1832756	SUPAL PRAJAPATI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1845430	ANITA KUMARI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1864104	ANKITA PRAJAPATI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1865355	KU PUNITA	Female	M. A./Sociology/I	Fresh	4	110	440	0	1114	1114	1554
1868973	AANCHAL YADAV	Female	M. A./Sociology/I	Fresh	4	110	440	0	1114	1114	1554
1869341	KAVITA CHAKRADHARI	Female	M. A./Pol. Science/I	Fresh	4	110	440	0	1114	1114	1554
		-		-		Total :	5870	0	37859	37859	43729

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: R/10/1494/3/10/106146

Sanction Date : 20/06/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1232806	RITU GUPTA	Female	M. Sc./Botany/II	Renewal	4	115	460	0	963	963	1423
1242289	SHEETAL DAS	Female	M. Sc./Chemistry/II	Renewal	4	115	460	0	963	963	1423
1245607	Rakhi Gupta	Female	M. Sc./Chemistry/II	Renewal	4	115	460	0	963	963	1423
1269599	KU NEHA	Female	M. A./Hindi/II	Renewal	4	115	460	0	914	914	1374
1277056	MISS AARTI	Female	M. Sc./Botany/II	Renewal	4	115	460	0	963	963	1423
1292218	SUSHM A YADAV	Female	M. Sc./Botany/II	Renewal	4	115	460	0	963	963	1423
1326523	KU SHIVALI	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1467521	DIVYA RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1472904	PHULESHWARI RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1531434	PRITI GUPTA	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1545883	MEMSI RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1549040	MAMTA RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1555857	PRIYANKA KUMARI SAHU	Female	M. Sc./Botany/II	Renewal	4	115	460	0	963	963	1423
1588377	KUM BEERA	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1617638	KAVITA RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1617728	ANJALI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1620171	KU DROUPADI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC Sanction Number: R/10/1494/3/10/106146

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 20/06/2021

Academic Year: 2020-21 Applications Type: Renewal

Application ID Student Name Gender Course Type No. of Rate Maintenence Tuition Fee Other Fee Total

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1623510	POONAM YADAV	Female	B. A./Arts/II	Renewal	4	85	340	0	844	844	1184
1627905	SONALI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1632215	APARNA GUPTA	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1640826	KUMARI JANANI	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1650196	SARITA YADAV	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1655667	MAMTA SONI	Female	M. A./Pol. Science/II	Renewal	4	115	460	0	914	914	1374
1658052	SANDHYA RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1667513	ANUBHA SONI	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1680998	MAUSAMI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1692633	KUMARI NAMITA	Female	M. A./Sociology/II	Renewal	4	115	460	0	914	914	1374
1693838	PRIYA VAISHNAV	Female	B. A./Arts/II	Renewal	4	85	340	0	844	844	1184
1693973	DIPTY MANIKPURI	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1695462	SONAL CHOUDHARY	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1700925	SUJATA KUMARI	Female	M. A./Sociology/II	Renewal	4	115	460	0	914	914	1374
1726889	BINDU RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1733591	KUMARI DEEPA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1737958	SEEMA PATAR	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1866502	SARSWATI PRADHAN	Female	B. A./Arts/II	Renewal	4	85	340	0	844	844	1184

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: R/10/1494/3/10/106146

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 20/06/2021

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1868127	KUMARI KAVITA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1869403	NEHA RAJWADE	Female	B. A./Arts/II	Renewal	4	85	340	0	844	844	1184
						Total :	13780	0	32542	32542	46322

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/10/1494/1/9/106273

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 20/06/2021

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1179503	MAHIMA VERMA	Female	M. Sc./Botany/II	Renewal	4	530	2120	0	963	963	3083
1249737	KU SUNITA	Female	M. A./Hindi/II	Renewal	4	530	2120	0	914	914	3034
1283781	BINDU BAGHEL	Female	M. Sc./Chemistry/II	Renewal	4	530	2120	0	963	963	3083
1515853	ANITA BHARTENDU	Female	M. Sc./Chemistry/II	Renewal	4	530	2120	0	963	963	3083
1616962	HIRAMUNI RAVI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1670865	JANAKI KUMARI	Female	M. Sc./Botany/II	Renewal	4	530	2120	0	963	963	3083
1693654	ANJALI RAVI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1698294	KU DIVYA	Female	B. Com./Commerce/II	Renewal	4	300	1200	0	844	844	2044
1703397	NIRMALA NIRMALA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1711325	ANCHAL CHAUHAN	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
	Tota						16600	0	9066	9066	25666

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/105039

Institute Name : GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date : 12/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1155183	RITAMBHARA SINGH	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1321053	RANJEETA SINGH	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1321060	SUNITA PAINKARA	Female	M. A./History/I	Fresh	4	530	2120	0	1114	1114	3234
1324033	PRIYA PAINKRA	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1325067	ANJU KUJUR	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1328502	KU JAISUNDARI	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1331441	SUMAN TIRKEY	Female	M. Sc./Mathematics/I	Fresh	4	530	2120	0	1163	1163	3283
1341659	SEEMA PAINKRA	Female	M. Sc./Mathematics/I	Fresh	4	530	2120	0	1163	1163	3283
1362986	SADHNA PAINKRA	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
1365928	FULMANI LAKRA	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1366172	ARPNA MINJ	Female	M. Sc./Mathematics/I	Fresh	4	530	2120	0	1163	1163	3283
1366437	KU BELAWATI	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1371105	KU SAVINA	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1376681	Kumari Priya	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1377810	SADHNA BHAGAT	Female	M. Sc./Mathematics/I	Fresh	4	530	2120	0	1163	1163	3283
1381198	DURGAWATI NO SIRNAME	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
1381232	KUMARI SANGEETA	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/105039

Institute Name : GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date : 12/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1423795	KUMARI SARITA SINGH	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1440616	KUMA REENA	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
1538262	TARAMUNI MINJ	Female	M. A./Hindi/I	Fresh	4	530	2120	0	1114	1114	3234
1648234	SADHNA KUMARI	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
1654377	SAVITA SINGH	Female	M. A./Sociology/I	Fresh	4	530	2120	0	1114	1114	3234
						Total :	46640	0	25047	25047	71687

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/105043

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1570363	ANU SUEYA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1614872	PINKI SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1618923	KAJAL PAIKRA	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1619315	NANGUDDI PAINKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1620283	DEEPMANI LAKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1620326	AMITA EKKA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1621870	PUSHPA PAIKRA	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1623608	SUNEETA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1625528	SANGEETA PAINKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1627749	DIVYANI PAIKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1628329	HIRMEN EKKA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1629302	SAMPATI SINGH	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1629524	ANITA TIRKEY	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1629874	NEHA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1633033	AKANKSHA EKKA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1641087	KAJAL SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1641878	RAMESHWARI SINGH	Female	B. Sc./Computer Science/II	Renewal	4	300	1200	0	864	864	2064

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/105043

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1643859	NIKITA SINGH	Female	B. Com./Commerce/II	Renewal	4	300	1200	0	844	844	2044
1644044	KU MAHESHWARI	Female	B. Com./Commerce/II	Renewal	4	300	1200	0	844	844	2044
1644104	NEETU PAIKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1644930	MAHESHWARI SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1648577	ELIJABED TIGGA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1650675	NAGESHWARI SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1651656	PRIYANKA PAINKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1652295	ABHA KUJUR	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1655135	SHABEENA SIDAR	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1655837	ALPANA TIGGA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1655883	SHWETASHEELA BECK	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1658158	KALPANA SINGH	Female	B. A./Arts/II	Renewal	4	300	1200	0	844	844	2044
1658780	KU SANJULATA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1659022	DIPANJALI XALXO	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1668476	DEEPLATA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1669698	KU PRATIMA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1672995	KUMARI PHULBASIYA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1679401	SUMAN XALXO	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST Sanction Number: R/10/1494/2/7/105043

Institute Name : GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date : 12/02/2021

Academic Year : 2020-21 Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1682774	SAVITA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1684633	PURNIMA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1687523	SHILPA PAIKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1691961	RITU PAIKRA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1693780	ANITA BAXLA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1698041	AMINA TOPPO	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1698724	KOMAL MARKAM	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1699375	PRIYANKA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1701933	PRATIBHA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1705146	KUMARI RAMAVADHI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1706703	KAMLESHWARI SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1726696	PRIYANKA KUMARI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1729185	NIKITA SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
1730410	RUPMANI SINGH	Female	B. Sc./Science/II	Renewal	4	300	1200	0	864	864	2064
		Total :	58800	0	42216	42216	101016				

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: N/10/1494/3/10/105057

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 12/02/2021

Academic Year: 2020-21

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1333828	PRIYA DAS	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	1163	1163	1603
1349294	BHUNESHWARI RAJWADE	Female	M. A./Hindi/I	Fresh	4	110	440	0	1114	1114	1554
1369852	Tarawati Yadav	Female	M. A./Sociology/I	Fresh	4	110	440	0	1114	1114	1554
1378622	SUSHMA KUSHWAHA	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	1163	1163	1603
1381320	KU INDRABAI	Female	M. A./Sociology/I	Fresh	4	110	440	0	1114	1114	1554
1450241	NEHA VISHWAKARMA	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	9000	9000	9440
1505022	PRIYANKA VISHWAKARMA	Female	M. Sc./Botany/I	Fresh	4	110	440	0	1163	1163	1603
1524540	KU ANIMA	Female	M. A./Hindi/I	Fresh	4	110	440	0	1114	1114	1554
1534578	CHETNA YADAV	Female	M. Sc./Chemistry/I	Fresh	4	110	440	0	1163	1163	1603
1739443	NEELAM JAISAWAL	Female	M. A./Hindi/I	Fresh	4	110	440	0	1114	1114	1554
		Total :	4400	0	19222	19222	23622				

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

otato: otronimon or ormatiogan

Sanction Number : R/10/1494/3/10/105067

Sanction Date: 12/02/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1381448	SAMINA DAS	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1487193	MEENA RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1491437	RANJNA RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1614281	KHULESHWARI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1617652	SUBHADRA DAS	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1617701	SHILAWATI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1617835	PUSHPA YADAV	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1623539	SAVITRI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1625307	SARITA BEHRA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1626481	KUMARI GEETA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1627509	KU ATMA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1627922	MAMTA RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1628844	KU DEEPIKA	Female	B. Com./Commerce/II	Renewal	4	85	340	0	844	844	1184
1629283	TANYAKASHI KENWAT	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1630597	PRIYANKA PATEL	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1630864	AABHA SINGH	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1633034	PAYAL KUSHWAHA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

· ·

Sanction Number: R/10/1494/3/10/105067

Sanction Date: 12/02/2021
Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1644919	PREETI RAJWADE	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1649273	ANUJA KULDEEP DAS	Female	B. A./Arts/II	Renewal	4	85	340	0	844	844	1184
1657632	KU KUNJLATA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1660549	SRISHTI DAS	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1684872	SAVITRI NISAD	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1697805	KUMARI BINDIYA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1698094	MANISHA YADAV	Female	B. Com./Commerce/II	Renewal	4	85	340	0	844	844	1184
1699676	KU SUSHMA	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1705447	AMBE DAS	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1727151	KULWANTI YADAV	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1823923	SITA MANI	Female	B. Sc./Science/II	Renewal	4	85	340	0	864	864	1204
1861911	PUSHPA CHAKRADHARI	Female	B. Com./Commerce/II	Renewal	4	85	340	0	844	844	1184
				Total :	9860	0	24936	24936	34796		

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/10/1494/1/9/105173

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 12/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1322682	SWATI SONANT	Female	M. Sc./Botany/I	Fresh	4	530	2120	0	1163	1163	3283
						Total :	2120	0	1163	1163	3283

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/10/1494/1/9/105191

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Total Amount Application ID Student Name Gender Course No. of Rate Maintenence Tuition Fee Other Fee **Total Fee Type** Month **Allowance** 1451796 KUMARI CHANDNI Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1570584 CHANDNI KUMARI Female B. Sc./Science/II Renewal 4 300 1200 0 864 864 2064 1590204 DEEPIKA SONWANI Female B. Sc./Science/II Renewal 4 300 1200 0 864 864 2064 1623610 REETU RAVI Female B. Sc./Science/II Renewal 4 300 1200 0 864 864 2064 1649494 VARSHA SARTHI Female B. Sc./Science/II Renewal 300 1200 0 864 864 2064 1654879 NEETU NAYAK B. Sc./Science/II Renewal 4 300 1200 0 864 864 2064 Female 1699743 CHANCHALA KHANDEKAR B. Sc./Science/II Renewal 1200 0 864 864 2064 Female 300 0 Total: 8400 6048 6048 14448

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number : N/10/1494/3/10/102754

Sanction Date: 10/02/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1439669	PREETI RAJWADE	Female	PGDCA/Computer Application/I	Fresh	4	110	440	0	9000	9000	9440
1635479	MADHVI RAJWADE	Female	M. A./Hindi/I	Fresh	4	110	440	0	1114	1114	1554
1753143	MUNESHWARI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1756099	PRIMITA PANDEY	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1758086	FULAN DEVI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1761767	KU CHANDRAKALA	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1764484	SONAM GUPTA	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1768046	RADHA RANI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1768125	JAYA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1771277	CHANCHAL YADAV	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1772792	MANISHA CHAKRADHARI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1774557	ISHA KUSHWAHA	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1775050	MOTI MANI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1777564	RUPMANI RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1779190	KU PREETI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1779246	KU LAXMI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1779356	KU PREETI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/10/1494/3/10/102754

Institute Name : GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date : 10/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1779764	KU SEEMA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1780890	RAKHI SONI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1781833	RAJMANIYA DAS	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1782403	RAJNI KHAMHARI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1784045	SAHODRI YADAV	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1784222	SONAMATI S	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1784822	RUKMANI RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1785331	PRIYA VISHAL	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1785724	ANITA RAJWADE	Female	B. Sc./Home Science/I	Fresh	7	70	490	0	1064	1064	1554
1789764	SHRUTI YADAV	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1790889	ARTI DAS	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1791165	TARIKA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1791350	REETU DAS	Female	B. A./Arts/I	Fresh	6	70	420	0	1004	1004	1424
1793971	PRATIMA GUPTA	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1794289	SULESHWARI YADAV	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1794346	SANGEETA PRAJAPATI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1794724	SHEELA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1795040	PREETI YADAV	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/10/1494/3/10/102754

Institute Name : GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date : 10/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1795065	PRITHVI PRAJAPATI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1795068	DURGA THAKUR	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1795355	KU PUSHPA	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1795856	KU SANDHYA	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1796342	NEHA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1796397	CHETANI RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1796805	PRIYANKA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1797049	ANKITA GUPTA	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1798625	PRIYANKA SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1798696	SUSHMA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1798893	NIRMLA KHAMHARI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1799781	SANJANA DAS	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1800722	RIYA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1800739	SONIYA DAS	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1800776	SUNAINA M PURI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1801169	RINKI NISHAD	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1803880	JASMINE PARVEEN	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1804498	ANJU YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/10/1494/3/10/102754

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 10/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1805224	AARTI YADAV	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1807579	KHUSHBU RAJWADE	Female	B. Sc./Home Science/I	Fresh	7	70	490	0	1064	1064	1554
1808585	ANCHALA KUMARI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1808794	REKHA KUMARI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1808974	SNEHA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1812011	VRIDDHI SAHU	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1813375	NANDANI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1814077	MADHU NAI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1814475	UJALA DAS	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1816233	GEETANJALI MAHANT	Female	B. Sc./Computer Science/I	Fresh	7	70	490	0	1064	1064	1554
1816644	KU RAKHI PRAJAPATI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1816915	AMRAWATI RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1817077	RAMILA RAJWADE	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1817432	KU BINDIA	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1817548	ANITA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1819111	ARTI DAS	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1819528	KU SANJEETA	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1819762	BHARTI YADAV	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

Sanction Number: N/10/1494/3/10/102754

Sanction Date: 10/02/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1820877	DILESHWARI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1821439	RANJU RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1822664	POORNIMA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1823550	RUPA PRAJAPATI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1826241	KU BHUNESHWARI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1827880	BINDU PRAJAPATI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1829288	KUMARI RAVITA	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1829453	KU SUKHWARO	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1830272	PARVATI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1830336	VARSHA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1830502	ANJALI THAKUR	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1831004	LAXMI YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1831158	PREETIKA YADAV	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1831383	PINKI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1831399	SEEMA RAJWADE	Female	B. Sc./Home Science/I	Fresh	7	70	490	0	1064	1064	1554
1831534	REKHA DAS	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1831711	VARSHA BHOY	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1832410	KU ANNU	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494

Declaration:

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/10/1494/3/10/102754

Institute Name : GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date : 10/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1832471	NEHA GIRI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1832861	DURGA PRAJAPATI	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1833727	USHA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1835108	SITA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1835313	DALMANI KARSH	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1835681	KALAWATI BARGAH	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1835983	KUMARI DURGAWATI	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1836162	PRIYANKA YADAV	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1837145	KIRAN RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1838775	PREETI RAJWADE	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1839968	KUMARI NEELU	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1840781	SUDHA YADAV	Female	B. Com./Commerce/I	Fresh	7	70	490	0	1004	1004	1494
1841388	MANDAKINI RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1841473	PINKY YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1842747	PUSHPA MAHANT	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1843653	SANJANA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1843756	PAYAL RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1845710	POOJA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

otato: otro:::::on or or:::attiogal

Sanction Number: N/10/1494/3/10/102754

Sanction Date: 10/02/2021

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1845858	BABLI YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1847954	PRIYANKA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1849169	CHANDRAMANEE RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1851319	NEHA YADAV	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1852979	SURYA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1854769	PURNIMA DAS	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1832486	ARCHANA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1814873	ANUPA DAS	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1801131	SHWETA RAJWADE	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
1788591	SONA RAJWADE	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1777568	REENA DAS	Female	B. A./Arts/I	Fresh	7	70	490	0	1004	1004	1494
1845036	PHOOL KUMARI	Female	B. Sc./Science/I	Fresh	7	70	490	0	1064	1064	1554
						Total :	58140	0	130522	130522	188662

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1515591	MEERA SANDILYA	Female	B. Sc./Science/III	Fresh	4	300	1200	0	864	864	2064
1746296	ADITI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1746822	SHASHI CHANDNI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1747815	MAHIMA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1747959	REENA TOPPO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1748204	SAVITA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1750523	BIRANCHI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1750584	SUSHMA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1750840	SUJATA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1755162	REETA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1756283	USHA EKKA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1756925	GEETIKA PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1757115	FULSITA TIRKEY	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1758990	MANSHI PORTE	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1759211	FILSEETA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1759502	SUM AN	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1761040	REEMA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1761338	SUNITA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1761528	SHASHITA TIRKEY	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1761560	MAMTA PAIKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1761646	MAMTA TOPPO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1762363	CHANDRAMANI .	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1762392	SWETA KUJUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1763459	KU SONAMATI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1763798	PRITI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1764524	LALITA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1766352	SUMANTI MINJ	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1769268	PRATIMA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1769273	ASEEMA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1769941	SEEMA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1773016	CHANDA KUMARI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1773121	SONAM SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1774030	SONALIKA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1774227	PREETI SUMAN LAKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1774333	DAYA MOTI RATHIYA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1774648	LALITA SINGH	Female	B. A./Arts/I	Fresh	6	300	1800	0	1004	1004	2804
1774937	LALITA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1775402	PURNIMA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1775440	MISS ALBINA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1775465	RESHMI ANDILIYA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1776789	PRIYANKA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777349	PURNIMA KERKETTA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777455	JYOTI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777471	JHULANTI PAIKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1777515	SANMANIYA PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777585	RITU PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777611	NEELAM PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777787	LALITA PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777882	URVASHI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1777968	SURAJMANI KISPOTTA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1778890	KU TULESHWARI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1779428	RAMILA KUJUR	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1779485	PRIYANKA PRIYANKA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Place :

Name (Capital Leters) :

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

State: Government of Chhattisgarh

Category: ST

Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 06/02/2021

Academic Year: 2020-21

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1779955	KU PURNIMA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1781000	ANJALI BHAGAT	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1781134	PRITI MINJ	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1781321	SARITA KUJUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1781934	VARSHA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1782061	SATESHRI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1782384	ALMA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1782440	SITAKAINA KUJUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1782527	SHASHITA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1771847	GAURI PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1771787	TANKESHWARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1767035	CHAMELI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1765201	DEEPIKA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1760595	HEMLATA MARAVI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1757377	GARIMA PAINKRA	Female	B. Sc./Computer Science/I	Fresh	7	300	2100	0	1064	1064	3164
1750491	NIGITA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1782540	SANITA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1782594	KU SABINA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1782694	KUMARI NANKI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1782960	ALENA TIRKEY	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1784257	AMARSHILA MARAVI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1784393	KUSUM EKKA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1784642	SULOCHNA SANDILYA	Female	B. A./Arts/I	Fresh	6	300	1800	0	1004	1004	2804
1784782	PRINSIKA MINJ	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1784880	ANAMIKA KISPOTTA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1784881	MUNNI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1785630	KUMARI SAMANTI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1785893	URMILA PAINKRA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1785968	NAMITA PAINKRA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1786579	ANAMIKA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1787702	NEEKITA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1789058	NILIMA KUJUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1789188	ANNA LATA EKKA	Female	B. Sc./Computer Science/I	Fresh	7	300	2100	0	1064	1064	3164
1789526	HEMLATA RATHIA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1790299	RANGEETA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1790566	PRIYANKA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1791107	PRATIBHA PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1791147	KU BINDEEYA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1791268	KU SANTARI	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1791355	MELKI TIGGA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1791388	ANUPA TIGGA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1791478	MUKTI MINJ	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1791508	SMITA KERKETTA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1792588	SUMIT RA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1793165	SHAKUNTALA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1793257	VINITA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1793323	NEETU TIGGA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1793778	GAYATRI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1794241	NEELIMA TIRKEY	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1794495	BINJU SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1794514	RINKI PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1794544	SONAM KUMARI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1794698	VINITA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1794822	KU KANTI	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1794895	SEEMA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1794923	SEJAL EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1795015	NIRMALA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1795105	KAVITA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1795129	MAMTA PAINKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1795169	KUM AMBE	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1795178	KU NANKI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1795330	MAHESHWARI KUMARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1795344	KU JAGMANIYA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1795464	ANJU KUJUR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1795591	SANJANA KERKETA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1795646	SHANTI XALXO	Female	B. Sc./Science/I	Fresh	6	300	1800	0	1064	1064	2864
1795775	RUKMANI PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1795992	SEEMA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1796128	ROSHNI MINJ	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1796266	SANDHYA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1796376	KUSUM PAIKRA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1796497	BHUMIKA KERKETTA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

State: Government of Chhattisgarh

Category: ST

Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 06/02/2021

Academic Year: 2020-21

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1796666	VINITA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1796758	ARPANA BAI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1796934	SUMAN PAIKRA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1797081	PARWATI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1798680	BALPATI TOPPO	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1798734	DIVYA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1798776	BHAGVATI TOPPO	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1799066	BINDU EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1799168	KU SUSHMA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1799404	VEDWATI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1799732	SHWETA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1799794	BHANU PAIKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1800079	SUSHMA XALXO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1800116	SHEELA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1800155	SABINA XALXO	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1800357	ANJALI XALXO	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1800381	KUMARI KAVITA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1800744	SAVITRI PRABHAKAR	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1800775	SUMITRA SINGH PAIKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1801073	ALKA LAKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1801196	SONAMANI MINJ	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1801566	DHENU PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1802189	KIRAN PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1803163	GEETA LAKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1803187	VINITA PAWLE	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1803213	SEEMA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1803639	ROMI XALXO	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1803872	SARITA XALXO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1803999	ANISHA TIRKEY	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1804386	MADHURI KUMARI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1804419	SHASHI TOPPO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1804662	POOJA KUMARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1804961	SAPNA SHIKHA	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	3104
1805033	ANKITA BARA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1805153	JASINTA LAKRA	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	3104
1805181	REETA TIGGA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1805805	BINITA BHAGAT	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1806848	SARASWATI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1807277	SAVITA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1808033	SUMAN SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1808340	ANJILA PAINKRA	Female	B. A./Arts/I	Fresh	5	300	1500	0	1004	1004	2504
1808404	JAIWATI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1808607	KRITA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1809022	ASHA KERKETTA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1809743	KU ANJU	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1809772	KUMARI SUNITA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1809965	MAHIMA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1812358	SAVITRI MINJ	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1812888	DURGAWATI EKKA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1813674	TEJASHWARI PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1814006	BINDESHWARI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1814105	KUMARI REETA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1814324	KUMARI BHAGYAWATI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1814438	ALISHA TIRKEY	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1814670	CHARITRAMANI PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1816037	PUSHPA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1816207	SITESHWARI PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1816352	KU . LALITA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1816612	KALISTA LAKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1817895	ANNU KUJUR	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1817955	SARITA TIGGA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1818143	YANTI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1818452	KU SADHANA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1818600	HIMLAWATI PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1818963	BABITA PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1819093	KU SUNITA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1819198	ARTI BAI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1820127	FILISITA FILISITA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1821459	NIKITA PAIKRA	Female	B. Sc./Science/I	Fresh	6	300	1800	0	1064	1064	2864
1822071	ANJALI SINGH	Female	B. Sc./Science/I	Fresh	6	300	1800	0	1064	1064	2864
1822654	DIVYA PAIKRA	Female	B. A./Arts/I	Fresh	6	300	1800	0	1004	1004	2804
1822783	KU SUGANTI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1822870	SILKEY EKKA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1823040	ASMITA KINDO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1823248	HIRAMANI SINGH	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	3104
1823256	JAGPATI PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1823743	JAYMALA GRES TIGGA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1823852	SANDHYA LAKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1823968	SONIYA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1824243	MANJITA TIRKEY	Female	B. Sc./Science/I	Fresh	6	300	1800	0	1064	1064	2864
1824317	PRITIMA PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1824379	LAXMANIYA LAXMANIYA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1824502	KANTI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1824613	KOMAL PAIKRA	Female	B. Sc./Computer Science/I	Fresh	7	300	2100	0	1064	1064	3164
1824623	NISHA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1824719	FULESHWARI LAKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1824938	GANGOTRI PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1825476	CHANDRA KALA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1825735	RAATRANI KUJUR	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1825936	KU PHARITA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Place:

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1826091	KU AANCHAL	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1826148	NEELAM EKKA	Female	B. Com./Commerce/I	Fresh	6	300	1800	0	1004	1004	2804
1826307	SUNIMA TIRKEY	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1826458	PRIYANKA ADHWAR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1826649	KUMARI SAVITA	Female	B. A./Arts/I	Fresh	6	300	1800	0	1004	1004	2804
1826689	KUMARI SONKELI	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	3104
1826708	KUMARI SHAKUNTEE	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1826720	KU ANU XALXO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1827196	RAJWANTI ADHWAR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1827561	SANGEETA SHYAM	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1827836	SUSHANTI KERKETTA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1827861	AMRITA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1827908	SUCHITA PAINKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1828428	VIDYAWATI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1829184	ANKITA LAKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1829232	KU PRIYANSHU	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1829240	KU ANJANA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1829289	ANJANI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164

Declaration:

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1829346	GAYATRI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1830301	ANUPA LAKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1830375	SARITA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1830400	SUSHMITA EKKA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1830408	MAHESHWARI PAINKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1830472	SATILA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1830536	JAYA PAIKRA	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	3104
1830546	AARTI PAIKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1830629	SARITA PAIKRA	Female	B. Sc./Home Science/I	Fresh	7	300	2100	0	1064	1064	3164
1830641	DEEPIKA TIRKEY	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1830896	KUNTI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1830980	SRISHTI PAIKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1831111	KUMARI RANI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1831377	KU DALMAT	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1831538	SUMAN SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1831721	DEVENDRI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1831757	SUNITA KUMARI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1831778	KUMARI KALPANA	Female	B. Sc./Computer Science/I	Fresh	7	300	2100	0	1064	1064	3164

Declaration:

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1832188	KALISTA KUJUR	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1832414	KALITA PAINKRA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1832769	TUKESHWARI PAIKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1833025	AMRITA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1833039	BHAGWATI BAI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1833090	SANTOSHEE DIWAN	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1833539	KUNTI SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1833571	MANESHRI TOPPO	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1834546	KU SANTOSHEE	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1836792	REETA MINJ	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1837542	KUMARI SUSHILA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1838108	RANI MINJ	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1838172	RADHA MINJ	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1839041	RADHA BAGHEL	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1839890	POOJA SINGH	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1840352	ROMA LAKRA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1841177	SUNITA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1842654	ANISHA EKKA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104

Declaration:

Place:

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/10/1494/2/7/102264

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1845190	NAMITA KISPOTTA	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1845400	CHAMELI SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1845670	ASHWANTI GOAD	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1845910	ASMITA SINGH	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1847922	KALAVATI BANCHHOR	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1854013	DEV KUMARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
	2 KALAVATI BANCHHOR Female B. A./Arts/I Fresh 7						573300	0	285440	285440	858740

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

· ·

Sanction Number: R/10/1494/2/7/102703

Sanction Date: 06/02/2021
Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
528092	SHWETA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
964063	MANISHA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1255822	KU MANJU	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1288044	SARITA LAKRA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1323073	KU SUKANTI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1331720	KU MANEESHA KISPOTTA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1337265	KU SAROJ SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1341543	AMRITA SINGH PANKARA	Female	B. Sc./Computer Science/III	Renewal	4	300	1200	0	864	864	2064
1342241	BITNEE PAINKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1348063	SANITA TIRKEY	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1364091	PRATI BHA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1370872	SUGANTI XALXO	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1372117	KU SUBANTI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1372377	KU JAYPRITA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1380212	SANJEETA EKKA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1466772	SUNITA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1467222	Janak kumari	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1467314 SHWETA PAINKRA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1467887 MEGHA PAIKRA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1467920 GONDA SINGH Female B. Com./Commerce/III Renewal 300 1200 844 844 2044 1468002 KUMARI NANDNI Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1468055 URMILA PAIKRA Female B. Com./Commerce/III Renewal 300 1200 0 844 844 2044 4 0 844 1468174 ASTHA SINGH Female B. A./Arts/III Renewal 300 1200 844 2044 1469085 SANDHYA MINJ Female B. A./Arts/III 4 300 1200 0 844 844 2044 Renewal B. Sc./Science/III 4 300 1200 0 864 864 2064 1469107 JOLJINA BARA Female Renewal 1469257 JAMUNA SINGH Female B. A./Arts/III Renewal 4 300 1200 0 844 844 2044 1469335 AMISHA RANI Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 4 0 1469355 SHASHI SINGH Female B. Sc./Science/III Renewal 300 1200 864 864 2064 1469358 SUMAN SINGH B. Sc./Science/III Renewal 4 300 1200 0 864 2064 Female 864 1469366 JAYMANI EKKA Female B. Sc./Home Science/II Renewal 4 300 1200 0 864 864 2064 1469463 SANGEETA SANGEETA B. Sc./Science/III 4 300 1200 0 864 864 2064 Female Renewal 1470938 KU PRAMILA Female B. A./Arts/III Renewal 300 1200 0 844 844 2044 1471176 kaleshwari kujur Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1472052 PRIYANKA SINGH Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 B. Sc./Science/III 300 1200 0 864 864 2064 1472805 manju toppo Female Renewal

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1473312 FULMANI EKKA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1473313 somari bai paikra Female B. A./Arts/III Renewal 4 300 1200 0 844 844 2044 1473314 USHA LAKRA Female B. Sc./Science/III Renewal 300 1200 864 864 2064 1473386 MAMTA TOPPO B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 Female 1473544 SURAJMANI PAIKRA B. Sc./Science/III Renewal 300 1200 0 864 864 2064 Female 4 0 844 1479579 KUMARI SHANTI Female B. A./Arts/III Renewal 300 1200 844 2044 1482925 MALTI SINGH Female B. Sc./Science/III 4 300 1200 0 864 864 2064 Renewal B. Sc./Science/III 4 300 1200 0 864 864 2064 1483709 RASEELA SINGH Female Renewal 1485815 NIRMALA PAIKRA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1486174 KU JYOTI Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 4 0 1486324 KUM NONKELI Female B. Com./Commerce/III Renewal 300 1200 844 844 2044 B. Sc./Science/III Renewal 4 300 1200 0 864 2064 1489599 KU DEVMANI PAIKRA Female 864 1490534 KU SUNITA PAIKRA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1492830 SHILWANTI KUMARI B. Sc./Science/III 4 300 1200 0 864 864 2064 Female Renewal 1492867 KU AARTISINGH MARAWI Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1493974 ASMITA SINGH Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1498721 KU MONIKA SINGH Female B. A./Arts/III Renewal 4 300 1200 0 844 844 2044 1499037 KSHAMA SINGH B. Sc./Science/III 300 1200 0 864 864 2064 Female Renewal

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1499256	SUNITA RAKSEL	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1499825	TANUJA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1502154	ANISHA KERKETTA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1502164	PRABHA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1505926	KU SUNAINA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1506042	KU KIRAN	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1506452	PRAMILA EKKA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1506748	KU ANITA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1509489	KU RAMESHWARI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1510409	SONPATI SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1510655	VINITA LAKRA	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1510874	ANURADHA BAI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1514830	DEEPSHIKHA LAKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1514984	NEELAM PAINKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1515979	SAVITA KUJUR	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1516255	KUM VIPHAIYA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1517387	KU BHAJANTI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1517597	NEELAM MINJ	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Sanction Date: 06/02/2021

Academic Year: 2020-21 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1518057	KU OMWATI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1518090	KAUSHILYA PAIKRA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1518559	SAKUNTA EKKA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1520210	KU PREETI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1521051	PRATIMA PAINKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1521061	SHASHIKALA PAINKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1521510	DEEPMALA SINGH	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1522180	ANITA TOPPO	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1523837	KAMESHWARI PAINKRA	Male	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1524476	SONAMATI PAINKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1524680	KU MAHIMA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1524713	DIVYA EKKA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1524757	ARCHNA KUJUR	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1525090	KUMARI SANMET	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1525452	KU KAILASO	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1526539	ARTI KUJUR	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1526589	SONA MATI	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1526941	KAVITA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1527937	KU ABHA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1530760	BINDU SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1534459	KU LALITA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1534618	SHYAMA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1535443	PREM KUMARI PAINKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1535817	PRATIMA KERKETTA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1536615	KIRAN KUJUR	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1536622	NEHA SIDAR	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1537570	KU TIHARO	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1537828	KU PAWANTI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1538267	ESHWARI EKKA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1538282	PRIYANKA PAIKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1538387	KALPANA .	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1539378	KU CHANDRIKA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1539736	MONIKA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1540192	GEETA PAIKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1540328	SEETA PAIKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1540394	SHRADHA KUJUR	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1540772 MAN KUMARI Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1541296 KUMARI PINKI Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1541862 KU MONISHA SINGH Female B. Sc./Science/III Renewal 300 1200 864 864 2064 1544164 BIRANTI BECK B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 Female 1544166 KAMALI SONPAKAR Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 4 0 864 1544398 KU MAMTA Female B. Sc./Science/III Renewal 300 1200 864 2064 1544933 ASHA SINGH Female B. Sc./Science/III 4 300 1200 0 864 864 2064 Renewal 1545647 ANIMA EKKA 4 300 1200 0 844 844 2044 Female B. A./Arts/III Renewal 1546530 JAGRITI SINGH Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1546694 SHAKUNTALA SINGH Female B. A./Arts/III Renewal 4 300 1200 0 844 844 2044 4 0 1547030 SURYA PAINKRA Female B. Sc./Home Science/III Renewal 300 1200 864 864 2064 1547835 BAL KUMARI B. Sc./Science/III Renewal 4 300 1200 0 864 2064 Female 864 1547898 SARITA PAINKRA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1548070 ALFA OMEGA TOPPO B. Sc./Science/III 4 300 1200 0 864 864 2064 Female Renewal 1548226 BHARTI SINGH Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1548245 KU KRISHMA Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1548271 KU MEENA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 B. Sc./Science/III 300 1200 0 864 864 2064 1548868 SNEHLATA SINGH Female Renewal

Declaration:

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1549940	SIRIMATI PAVLE	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1550044	ANISA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1550101	SHARDA SINGH	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1551156	ANSHIKA PAINKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1552448	DURGA WATI	Female	B. Sc./Computer Science/III	Renewal	4	300	1200	0	864	864	2064
1554836	VINEETA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1559969	ANIMA EKKA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1564039	KU MEERA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1564139	VEENAWATEE BHAGAT	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1566491	SUJATA SINGH	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1567014	GAYATRI SINGHPORTE	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1584515	ANSHUMALA XESS	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1586158	RUPA TIGGA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1594805	SARSWATI PAIKRA	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1595012	MEENA KINDO	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1599119	BHARTI AGARIYA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1599858	KU SUMITRA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1600899	KU SHAKUNTLA	Female	B. Com./Commerce/III	Renewal	4	300	1200	0	844	844	2044

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1618198	MANJU KUJUR	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1618940	NEHA ALINJ MINJ	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1619634	MAMEETA SINGH	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1621236	SANGEETA PAIKRA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1622637	SARASWATI BHAGAT	Female	B. Com./Commerce/II	Renewal	4	300	1200	0	844	844	2044
1626695	SABNAM PANKARA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1626741	BABITA PAIKRA	Female	B. A./Arts/III	Renewal	4	300	1200	0	844	844	2044
1628057	ANJU TIRKEY	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1628719	BARKHA RANI TIRKEY	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1629054	ANJANA TIRKEY	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1640690	KU MAHIMA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1642950	MANISHA TIGGA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1644186	KALISTA KINDO	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1646605	PRIYANKA TIRKEY	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1646683	KUMARI ANJALI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1647492	JYOTI KIRAN MINJ	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1648975	RESHMA SINGH	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064
1649188	SHIVRATNA KUMARI	Female	B. Sc./Home Science/II	Renewal	4	300	1200	0	864	864	2064

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1649240 SABINA TIGGA Female B. Sc./Home Science/II Renewal 4 300 1200 0 864 864 2064 1653952 VINITA TIRKEY Female B. A./Arts/III Renewal 4 300 1200 0 844 844 2044 1654500 NEHA KERKETTA Female B. Com./Commerce/II Renewal 300 1200 844 844 2044 1662420 KU SUSHMA KUSRO Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1663020 RESHMEE TIRKEY Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 4 0 864 1664446 KALISTA EKKA Female B. Sc./Home Science/II Renewal 300 1200 864 2064 1669978 PUSHPLATA SINGH Female B. Sc./Science/III 4 300 1200 0 864 864 2064 Renewal B. Sc./Home Science/II 4 300 1200 0 864 864 2064 1671004 KADAM KUMARI Female Renewal 1673722 KU SANMATIYA KUJUR Female B. A./Arts/III Renewal 4 300 1200 0 844 844 2044 1679054 LEELAWATI KUMARI Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 4 0 1689699 RAMBHA BHARTI Female B. Sc./Science/II Renewal 300 1200 864 864 2064 1692750 KUMARI SUNTILA B. Sc./Science/III Renewal 4 300 1200 0 864 2064 Female 864 1693327 KUMARI MEERA Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1693383 SMITA KUJUR B. Sc./Home Science/II 4 300 1200 0 864 864 2064 Female Renewal 1693969 KUMARI HEERAMATI Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1695642 ANUPMA SINGH Female B. Sc./Science/III Renewal 300 1200 0 864 864 2064 1697905 ANITA SINGH Female B. A./Arts/III Renewal 4 300 1200 0 844 844 2044 B. Sc./Home Science/II 300 1200 0 864 864 2064 1702847 JYOTI TIRKEY Female Renewal

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/10/1494/2/7/102703

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate Month **Allowance** 1710856 KU ALKA KUJUR Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1719098 SUMAN KUMARI Female B. Sc./Home Science/II Renewal 4 300 1200 0 864 864 2064 1719938 MANMATI TEKAM Female B. A./Arts/III Renewal 300 1200 844 844 2044 1726285 VINITA SINGH B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 Female 1727987 SEVENTI XX Female B. Sc./Home Science/III Renewal 300 1200 0 864 864 2064 4 0 864 1728944 SUNAINA EKKA Female B. Sc./Home Science/II Renewal 300 1200 864 2064 1729833 PREETI BECK Female B. Sc./Home Science/II 4 300 1200 0 864 864 2064 Renewal 1735494 KUMARI SHRIMATI 4 300 1200 0 844 844 2044 Female B. A./Arts/III Renewal 1739010 DIVYA RANI TOPPO Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1829281 DIVYA KHALKHO Female B. Sc./Science/III Renewal 4 300 1200 0 864 864 2064 1832445 BABLI EKKA 4 0 Female B. Sc./Home Science/III Renewal 300 1200 864 864 2064 1832884 REENA BANWASI B. Sc./Science/III Renewal 300 1200 0 864 Female 864 2064 1846436 LALITA LAKRA Female B. Sc./Home Science/II Renewal 4 300 1200 0 864 864 2064 230400 0 165148 165148 395548 Total:

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

State: Government of Chhattisgarh

otato: Oovonimont of ormattiogam

Sanction Number: R/10/1494/3/10/102766

Sanction Date: 04/02/2021

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1240721	SANJU RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1322479	RIYA KUMARI	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1352144	KU JILESHWARI	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1358899	AYUSHI GUPTA	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1465723	VARSHA M PURI	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1466856	SARITA YADAV	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1467363	SEEMA YADAV	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1467532	SANGEETA PRAJAPATI	Female	B. Com./Commerce/III	Renewal	4	85	340	0	844	844	1184
1467664	RUKKMANI RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1467914	KHUSHBU RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1468039	POOJA DEWANGAN	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1468189	BHARTI KUSHWAHA	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1469113	KU PRIYANKA	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1469256	TULESHWARI YADAV	Female	B. Com./Commerce/III	Renewal	4	85	340	0	844	844	1184
1470900	MEENA GUPTA	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1472365	SADHANAWATI KUSHWAHA	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1473200	MANMATI PRAJAPATI	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/10/1494/3/10/102766

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1473439 Saraswati Rajwade Female B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 1473632 TULESHWARI YADAV Female B. A./Arts/III Renewal 4 85 340 0 844 844 1184 1479710 BINDU GIRI Female B. Sc./Science/III Renewal 85 340 864 864 1204 1481489 MADHU YADAV B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 Female 1487752 PRATIBHA YADAV Female B. Sc./Science/III Renewal 85 340 0 864 864 1204 4 85 0 864 1489058 KU VRISHPATI RAJWADE Female B. Sc./Science/III Renewal 340 864 1204 1489969 SHARDA YADAV Female B. Sc./Science/III 4 85 340 0 864 864 1204 Renewal B. Sc./Science/III 4 85 340 0 864 864 1204 1490526 SAVITA SAVITA Female Renewal 85 1490711 DHANESHWARI BAI Female B. Sc./Science/III Renewal 4 340 0 864 864 1204 1493678 CHINTA BAI Female B. A./Arts/III Renewal 4 85 340 0 844 844 1184 1493839 BHEDMANI RAJWADE 4 85 0 Female B. A./Arts/III Renewal 340 844 844 1184 1495087 JULITA SAHU B. Sc./Science/III Renewal 4 85 340 0 864 1204 Female 864 1495234 KU BINDESHWARI Female B. A./Arts/III Renewal 4 85 340 0 844 844 1184 1500891 KU BASANTI B. A./Arts/III 4 85 340 0 844 844 1184 Female Renewal 1509808 GEETANJALI YADAV Female B. Sc./Home Science/III Renewal 85 340 0 864 864 1204 1524839 KU SARITA Female B. Sc./Science/III Renewal 85 340 0 864 864 1204 1525132 KU SALONI RAJWADE Female B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 85 1525796 REMAN REMAN B. Sc./Science/III 340 0 864 864 1204 Female Renewal

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/10/1494/3/10/102766

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 04/02/2021

Academic Year : 2020-21 Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1527863	KU MAMTA RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1534423	ANJU YADAV	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1545087	PRIYANKA YADAV	Female	B. Com./Commerce/III	Renewal	4	85	340	0	844	844	1184
1545776	DEEPIKA RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1546286	MINAKSHI RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1546867	GARIMA DAS	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1547181	NIKITA YADAV	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1547965	DEVANTI RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1549007	KOMAL YADAV	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1549324	LEELAWATI RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1549809	PREETI DAS	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1555849	SADHNA YADAV	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1566046	KU RANI RAJWADE	Female	B. Com./Commerce/III	Renewal	4	85	340	0	844	844	1184
1572431	SUPRIYA DAS	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1585819	SUKHMANIYA RAJWADE	Female	B. A./Arts/III	Renewal	4	85	340	0	844	844	1184
1593071	KU KARUNA	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1593182	KUNTI RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204
1598785	SUNITA RAJWADE	Female	B. Sc./Science/III	Renewal	4	85	340	0	864	864	1204

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/10/1494/3/10/102766

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 04/02/2021

Academic Year: 2020-21 Applications Type: Renewal **Application ID** Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1616779 VINITA RAJWADE Female B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 1616864 ANJU RAJWADE Female B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 1625164 ANITA JAISWAL Female B. Sc./Science/III Renewal 85 340 864 864 1204 1640868 PUSHPA RAJWADE B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 Female 1641601 JAGMANI DEVI Female B. A./Arts/III Renewal 85 340 0 844 844 1184 4 85 0 864 1676774 DEV KUMARI Female B. Sc./Science/III Renewal 340 864 1204 1698728 HEMWATI PRAJAPATI Female B. Com./Commerce/II 4 85 340 0 844 844 1184 Renewal 4 85 340 0 844 844 1184 1708424 CHHAYA GUPTA Female B. A./Arts/III Renewal 85 1725984 RUPA RAJWADE Female B. Sc./Science/III Renewal 4 340 0 864 864 1204 1826919 JAMUNA PRADHAN Female B. A./Arts/III Renewal 4 85 340 0 844 844 1184 4 85 0 1827019 USHA BAI Female B. Sc./Science/III Renewal 340 864 864 1204 1830128 KU . POOJA B. Sc./Science/III Renewal 4 85 340 0 864 1204 Female 864 1830882 URMILA YADAV Female B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 1832231 PRIYA DAS B. Sc./Computer Science/III 4 85 340 0 864 864 1204 Female Renewal 1832418 POONAM RAJWADE Female B. Sc./Science/III Renewal 4 85 340 0 864 864 1204 1835769 KAMESHWARI RAJWADE Female B. Sc./Home Science/II Renewal 85 340 0 864 864 1204 1839899 KUMARI SAVITA Female B. Sc./Home Science/II Renewal 4 85 340 0 864 864 1204

Declaration:

1843272 BHA RTI

Renewal

85

340

0

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

864

864

1204

B. Sc./Science/III

Female

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/10/1494/3/10/102766

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 04/02/2021

Academic Year : 2020-21 Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1861322	KU RUPMANIYA	Female	B. Com./Commerce/II	Renewal	4	85	340	0	844	844	1184
						Total :	24480	0	61768	61768	86248

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/10/1494/1/9/102884

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR Sanction Date: 04/02/2021

Academic Year: 2020-21 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1748128	NEETU SUREN	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1753113	PRATIBHA GAHARWAR	Female	B. Sc./Science/I	Fresh	5	300	1500	0	1064	1064	2564
1753259	KUSMA TOPPO	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1769547	NIMESHWARI NIMESHWARI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1788766	KU SUMITA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1791732	KU SHALU	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1795718	SUSHILA CHOUDHRI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1799138	KIRAN KOYA	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1826443	GAYATRI GAHARVAR	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	3104
1832749	PRIYA GADHEWAL	Female	B. A./Arts/I	Fresh	7	300	2100	0	1004	1004	3104
1835996	KIRAN CHAUHAN	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
1837585	KUMARI RAJNANDNI	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	3104
1857844	SARASWATI SARTHI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	3164
			-	-	,	Total :	26700	0	13472	13472	40172

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/10/1494/1/9/102885

Institute Name: GOVT. GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
989989	ANKITA SARTHI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1507348	SIMRAN XX	Female	B. Sc./Home Science/III	Renewal	4	300	1200	0	864	864	2064
1525445	NAINA NAYAK	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
1551005	PARWATI RAVI	Female	B. Com./Commerce/III	Renewal	4	300	1200	0	844	844	2044
1611256	VASUNDHARA SONWANI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	864	864	2064
	Total :							0	4300	4300	10300

Declaration:

Place : Date :

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT, GIRLS COLLEGE AMBIKAPUR

Academic Year: 2020-21



State: Government of Chhattisgarh

Sanction Number: N/10/1494/2/7/108034

Sanction Date: 07/07/2021

Applications Type: Fresh

plication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1336596 KU SUNITA	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1390161 KU BABLI	Female	M. A./Pol. Science/I	Fresh	4	530	2120	0	1114	1114	3234
1403776 KALITA BAI	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1544448 ANJU SINGH	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
1596808 NILESHMA EKKA	Female	M. Sc./Chemistry/I	Fresh	4	530	2120	0	1163	1163	3283
1871358 VARSHA MINJ	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1064	1064	316
1871451 MRS BINDESHWARI	Female	B. Com./Commerce/I	Fresh	7	300	2100	0	1004	1004	310
1410944 PUSHPA BANWASI	Female	PGDCA/Computer Application/I	Fresh	4	530	2120	0	9000	9000	11120
					Total:	16920	0	32459	32459	49379

Declaration:

Place :

Date: